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5¿: 1. co�K´7�K, 2lÊ���K¥?ÀnK, KÒ�W\þ¡�L

¥(õÀÃ�).

2. ¤k�KÑL�3dÁò��µ�m>,�3Ù§�þ�ÆÃ�.

3. �µ��>�Õ�K,�µ�	Ø�k6¶9�'IP.

4. X�K�xØ
,��3���¡,¿I²KÒ.

�! (�K 20©,z�K� 5©)W�K
�©

µ�<

(1) �¢�
 H1 =

(
0 1

1 0

)
§Hn+1 =

(
Hn I

I Hn

)
§n ≥ 1§Ù¥I´�HnÓ��ü 

�
©K rank (H4) = .

(2) lim
x→0

ln(1 + tan x)− ln(1 + sin x)

x3
= .

(3) � Γ��m­�


x = π sin

t

2
,

y = t− sin t,

z = sin 2t

, t ∈ [0, π].K1�.­�È©
∫

Γ

esinx
(

cosx cos y dx−

sin y dy
)

+ cos z dz = .

(4) ��g.f(x1, . . . , xn) = (x1, . . . , xn)A


x1

x2

...

xn

�Ý
A�


1 a a · · · a

a 1 a · · · a
...

...
...

...
...

a · · · a 1 a

a a · · · a 1


,

Ù¥n > 1, a ∈ R. Kf3��C�e�IO/� .
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�!(�K 15©)3�m���IXe§�ký¥
�©

µ�<

¡

S :
x2

a2
+
y2

b2
+
z2

c2
= 1, a, b, c > 0

9S	Ü�:A(x0, y0, z0)§LA:��S ���¤k���¤I¡Σ. y²µ�3²

¡Π§¦���S ∩ Σ = S ∩ Π¶Ó�¦Ñ²¡Π��§.
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§�÷
�©

µ�<

v

AB −BA = C, AC = CA, BC = CB.

1. y²µC´�"�
¶

2. y²µA,B,CÓ��quþn�
¶

3. eC 6= 0,¦n����.
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o!£�K20©¤� f(x)3 [0, 1]þk��ëY�
�©

µ�<

¼ê,� f(0)f(1) > 0. ¦y:∫ 1

0

|f ′(x)| dx 6 2

∫ 1

0

|f(x)| dx+

∫ 1

0

|f ′′(x)| dx.
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�� Ê!£�K10©¤� G �+§�÷vµ∀x, y ∈
�©

µ�<

G, (xy)2 = (yx)2. y²µ∀x, y ∈ G, �� xyx−1y−1 ��

Ø�L2.
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8!£�K10©¤�E ⊂ Rn��ÿ8, m(E) < ∞.
�©

µ�<

�f, fk ∈ L2(E),3EþA�??kfk → f§�

lim sup
k→∞

∫
E

|fk(t)|2dt 6
∫
E

|f(t)|2dt.

¦yµ limk→∞
∫
E
|fk(t)− f(t)|2dt = 0.
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µ�<
r(u, v) = {a cosu, b sinu, v}, −π 6 u 6 π, −∞ < v < +∞.

£1¤¦Sþ?¿ÿ/���§¶

£2¤�a = b. �P = (a, 0, 0), Q = (a cosu0, a sinu0, v0) (−π < u0 < π, −∞ <

v0 < +∞). �ÑSþë�P,Qü:��á­���§.
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{�O��ª§¿y²T�ª²k�ÚS��Âñ"
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�� Ê!£�K10©¤�¼êf(z)3ü �|z| < 1S)
�©

µ�<

Û§3Ù>.þëY.e3 |z| = 1þ|f(z)| = 1. y² f(z)�

kn¼ê.
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�!£�K10©¤�X1, X2, · · · , Xn´ÕáÓ©Ù
�©

µ�<

��ÅCþ,Ùk�Ó�©Ù¼êF (x)Ú�Ý¼êf(x). y

é�ÅCþX1, X2, · · · , XnU��^S­#ü�� Xn1 6

Xn2 6 · · · 6 Xnn.

(a) ¦�ÅCþ(Xn1, Xnn)�éÜVÇ�Ý¼êf1n(x, y);

(b) XJXi (i = 1, 2, · · · , n)Ñl«m[0, 1]þ�þ!©Ù§¦�ÅCþU = Xnn +

Xn1��Ý¼êfU(u).
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